(Test No. 105)
Test Name : CHEMICAL SCIENCES

Time : 80 minutes Maximum : 100 marks

Answer ALL questions.

Each question carries ONE mark.

What is the separation energy (in @V) for Be®* in the first excited state?
Be™ @, 520 adas HOS" Sonen 3 (Jugs T'ged”) Job dnotui?
(a) 13.6eV b 272V

(c) 40.8eV (d) 54.5eV

Stability of iona of Ge, Sn and Pb will be in the order

Ge, Sn 08ckn Pb edirioe posgin & E55086" 4ok

(a) Sn** =8 >Ge" () Ge* <8n* <Pb*
(@ Ge* >8n* >Pb" (d) All are correct
sk Sy
The third ionization energy is maximum for
Bt edbbste 38 408 2847
{a) Nitrogen (b) Phosphorus
L P
(c)  Aluminium (d} Boron
BBIERRChO i
Screening effect is not observed in
A0S Herddon £ 208 ood” 308 doddy?
{a) He" by Li*
(© Be™ (dy Al
sRyoie’

Which ane of the following molecule is planar?
&4 208 06 D send Suseiud divodin?
(@) POl ) ClO;
(¢ €Oy (d) NH,

The molecule that does not possess a permanent dipole moment is
& 208 TRS" D wea Fgh Bityd s Hdiuodi?
(c) BF, (dy CH,Cl,



10.

11.

12

13.

Among the following molecules, the dipole moment is highest for
&1 508 e’ B8 oBgRE Hihd Friotan divoti

(a) NF, (b) NH,
{c) BF,. (d) “trans- [PtCl, (NH,),]
 osg[Pecl, (NH,),)

The shape of IF, is

[F, Bk, o5y

{a) pentagon _ (b) equare pyramidal
DO Stodse ST

(¢) trigonal bi pyramidal (d) pentagonal by pyramidal
(95" B dEausd Sos5'ddnh B dEmEd

The pair of gaseous molecules / ions having tetrahedral structure is

&1 208 o eruge [ salres” D sow Sty Sab eEBe Batiodin?

(a) SnCl, PH; (b) SeCl, XeF,
{cy ICl,, PH; (d) SnCl,, ICI;
Which one of the following is the strongest base

& BoB 06" D8 wedd ibu?

(a) NH, (b) AsH,

{c) ShH, (dy BiH,

Conjugate acid of HPO]™ is

HPOY @k, Mool eua

(a) H,PO, (b) H,PO,
¢y H,PO; (d POl

C,H,ONa in C,H,OH isa
C,H,OH&" C,H,0Na

(a) strong base (b) strong acid
wedin PEan LED S50

(c)  weakacid id) weak base
ORI SN ROLPIZH FEB0

If K;, K; and K, are the dizsociation constants for the successive stages of
dissociation of H,PO, then which of the following order is correct
H,PO, (ifsin) ad@rasswd's 3035 oSed’, K, K, bdw K,

555.1"@%0‘0% @&, (S0
{a:’ KI - Ki = K; {b} I‘:1 ':"Kl = Kl
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